
Cut Sheet

 

1

2
 1

.0
5 

 1.50 

3/8"-16 THREAD
THRU ONE WALL

 1.46 

 0.75 
1/2" HEAD

 0.28 

 1.88 

3/8-16 THD

1) CLAW, SINGLE PIECE,1.5W, 3/8 BOLT, TALL

2) 3/8"-16 HEX SCREW, SERRATED FLANGE, 1.875", 1/2 HEAD

ITEM NO. DESCRIPTION QTY IN KIT
1 CLAW, SINGLE PIECE, 1.5W, 3/8 BOLT, TALL 1
2 3/8"-16 HEX SCREW, SERRATED FLANGE, 1.875", 1/2 HEAD 1

ITEM NO. DESCRIPTION
AE-DOCK-02-B1 AIRE DOCK, BLACK

PROPERTY VALUE
MATERIAL 6000 SERIES ALUMINUM

FINISH MILL/BLACK

PROPERTY VALUE
MATERIAL 300 SERIES STAINLESS STEEL

FINISH CLEAR

AIRE DOCK

v1.10


